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Note:	 The question paper is divided into three sections A, B and C. 
Write answers as per the given instructions.

{ZX}e :	 ¶h àíZ nÌ "A', "~' Am¡a "g' VrZ IÊS>m| ‘| {d^m{OV h¡& àË¶oH$ 
IÊS> Ho$ {ZX}emZwgma àíZm| Ho$ CÎma Xr{OE&

	 Section - A	 8 × 2 = 16
(Very Short Answer Questions)

Note:	 Answer all questions. As per the nature of the question 
delimit your answer in one word, one sentence or 
maximum up to 30 words. Each question carries 2 marks.

	 IÊS> - "A'
(A{V bKw CÎmar¶ àíZ)

{ZX}e :	 g^r àíZm| Ho$ CÎma Xr{OE& Amn AnZo CÎma H$mo àíZmZwgma EH$ eãX, 
EH$ dm³¶ ¶m A{YH$V‘ 30 eãXm| ‘| n[agr{‘V H$s{OE& àË¶oH$ àíZ 
2 A§H$m| H$m h¡&

1)	 (i)	 What do you understand by research?

		  emoY go Amn ³¶m g‘PVo h¡?
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	 (ii)	 What is Qualitative Research?

		  JwUmË‘H$ emoY ³¶m h¡?

	 (iii)	 What do you mean by hypothesis?

		  Am{^H$ënZm go Amn ³¶m g‘PVo h¡?

	 (iv)	 Why is sampling necessary in research?

		  emoY ‘| {ZXe©Z ³¶m| Amdí¶H$ h¡?

	 (v)	 Define arithmetic mean.

		  g‘mÝVa ‘mÜ¶ H$s n[a^mfm Xr{OE&

	 (vi)	 What is false base line?

		  H¥${Ì‘ AmYma aoIm ³¶m h¡?

	 (vii)	What is Range?

		  {dñVma {H$go H$hVo h¡?

	 (viii)	What is Fisher’s ideal formula for Index number?

		  gyMH$m§H$ kmV H$aZo H$m {’$ea H$m AmXe© gyMH$m§H$ ³¶m h¡?

	 Section - B	 4 × 8 = 32
(Short Answer Questions)

Note:	 Answer any four questions. Each answer should not 
exceed 200 words. Each question carries 8 marks.

IÊS> - ~
(bKw CÎmar¶ àíZ)

{ZX}e :	 {H$Ýht Mma àíZm| Ho$ CÎma Xr{OE& Amn AnZo CÎma H$mo A{YH$V‘ 
200 eãXm| ‘| n[agr{‘V H$s{OE& àË¶oH$ àíZ 8 A§H$m| H$m h¡&

2)	 What are the various steps in research process?

	 emoY à{H«$¶m Ho$ {d{^ÝZ MaU H$m¡Z-H$m¡Z go h¡?
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3)	 Mention the various sources of secondary data.

	 {ÛVr¶H$ g§‘H$m| Ho$ {d{^ÝZ ómoVm| H$mo g‘PmB¶o&

4)	 From the following data calculate Arithmetic mean by direct 

method.

	 {ZåZ{b{IV g§‘H$mo go àË¶j ar{V Ûmam g‘mÝVa ‘mÜ¶ H$m n[aH$bZ 
H$s{OE&

No. of Goals 0 1 2 3 4 5 6 7 Total

Frequency 14 21 25 43 51 40 39 12 N = 245

5)	 Compute Karl Pearson’s co-efficient of skewness from the 

data given in the following table.

	 {ZåZ gmaUr ‘| àñVwV g§‘H$m| go H$mb©{n¶agZ H$m {df‘Vm JwUm§H$ kmV 
H$s{OE&

Items 15-25 9-14 5-8 3-4 2 1 0 Total

Frequency 2 8 10 6 6 5 3 N = 40

6)	 How are the consumer price index numbers constructed? 

Explain with example.

	 Cn^mo³Vm ‘yë¶ gyMH$m§H$ H$s aMZm {H$g àH$ma H$s OmVr h¡? CXmhaU 
g{hV dU©Z H$s{OE&

7)	 Explain the importance of time series analysis.

	 H$mbloUr {díbofU Ho$ ‘hÎd H$m dU©Z H$s{OE&
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8)	 Find out the value of 8P6.

	 8P6  H$m ‘mZ kmV H$s{OE&

9)	 Discuss the subject matter of research design.

	 EH$ AZwg§YmZ A{^H$ën H$s {df¶ dñVw H$m dU©Z H$s{OE&

	 Section - C	 2 × 16 = 32
(Long Answer Questions)

Note:	 Answer any two questions. You have to delimit your each 

answer maximum up to 500 words. Each question carries 

16 marks.

IÊS> - g
(XrK© CÎmar¶ àíZ)

{ZX}e  :	 {H$Ýht Xmo àíZm| Ho$ CÎma Xr{OE& Amn AnZo CÎma H$mo A{YH$V‘ 500 
eãXm| ‘| n[agr{‘V H$s{OE& àË¶oH$ àíZ 16 A§H$m| H$m h¡& 

10)	 Discuss different types of research on the basis of the nature 

of research.

	 emoY H$s àH¥${V Ho$ AmYma na emoY Ho$ {d{^ÝZ àH$mam| H$m dU©Z H$s{OE&

11)	 What do you mean by collection of research data? Explain the 

various methods used in the collection of the research data.

	 emoY g§‘H$m§o Ho$ g§H$bZ go Amn ³¶m g‘PVo h¡? emoY g§‘H$ g§H$bZ H$s 
{d{^ÝZ ar{V¶m| H$mo g‘PmB¶o&
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12)	 An enquiry into the budget of middle class families in Bhopal 

gave the following information:

	 ^monmb Ho$ ‘Ü¶‘dJu¶ n[admam| Ho$ ~OQ> gd]jU go {ZåZ{b{IV gyMZm 
àmá hþB©:

Particular

{ddaU
Year

df©
Food

^moOZ
Rent

{H$am¶m
Cloth

H$n‹S>o
Fuel

BªYZ
Misc

{d{dY

Expenses (ì¶¶) - 35% 15% 20% 10% 20%

Price (H$s‘V) 2015 150 50 100 20 60

Price (H$s‘V) 2016 174 60 125 25 90

	 What changes in the cost of living figures of 2016 have taken 

place as compared to the 2015.

	 2015 H$s VwbZm ‘| 2016 Ho$ OrdZ {Zdm©h ì¶¶ ‘| ³¶m n[adV©Z hþAm 
h¡?

13)	 (i)	� How many permutation can be made out of letters of the 

word  ‘AGRAWAL’?

		�  ‘AGRAWAL’eãX Ho$ {d{^ÝZ Ajam| go Hw$b {H$VZo H«$‘M¶ ~Zm¶o 
Om gH$Vo h¡?

	 (ii)	� In how many ways a team of 11 players can be formed out 

of 15 players? 

		�  15 {Ibm{‹S>¶m| ‘| go 11 {Ibm{‹S>¶m| H$s EH$ Q>r‘ {H$VZo VarH$m| go 
~ZmB© Om gH$Vr h¡?


